27624-04 WM& A EFMNMI L DIN 71752

7= miiEA

M
W AEEMN 1.4305,

WA

N EEF. TBTHEW.
BN

*5 DIN 71752 2L,

Al h11

D2
D3

<<
27624-04-2040 2 Y1 HI4W AHEIRL | 40 | 40 | 20 | 20 *M20 34 | 40 | 105 | 80 30
27624-04-0408 Z YIHIH A HESRL 8 8 | 4| 4 M4 8 | 8 21 16 6
27624-04-0510 2 YIHIW AHEEEL | 10| 10 | 5 5 M5 9 |10 26 |20 7,5
27624-04-0612 2 Y1 HI4W ARERY |12 12 | 6 6 M6 10 [ 12| 31 |24 9
27624-04-0816 2 UIHIW AHERY (16| 16 | 8 8 M8 14 |16 | 42 |32 12
27624-04-0832 2 YT HIW AHEIRY |16 | 16 | 8 8 M8 14 | 32| 58 |48 12
27624-04-1020 5 YIHIH ARESRL | 20| 20 | 10| 10 M10 18 | 20| 52 |40 15
27624-04-10120 2 YT HIW AREEL |20 | 20 | 10 | 10 M10x1,25 18 |20 | 52 |40 15
27624-04-1040 2 YT HI4W AHEEL |20 | 20 | 10 | 10 M10 18 [ 40| 72 |60 15
27624-04-1224 2 YIHI AHEIRY |24 | 24 [ 12| 12 M12 20 | 24| 62 |48 18
27624-04-12124 2 YT HI BRI | 24| 24 | 12| 12 *M12X1,25 20 |24 | 62 |48 18

© norelem www.norelem.com




27624-04 WHNHFFEMR L DIN 71752

27624-04-1248 Z YIHIM AHEIESL |24 | 24 | 12| 12 M12 20 |48 | 86 |72 18
27624-04-1428 Z IHIM BR[| 27| 27 | 14| 14 M14 24 128 | 72 |56 | 225
27624-04-14128 2 TIHI4M BRERE | 27| 27 | 14| 14 M14x1,5 24 128 | 72 |56 | 225
27624-04-1632 Z IHIM AHERL (32| 32 |16 | 16 M16 26 | 32| 83 |64 24
27624-04-16132 2 YIHI4W AHEIRY 32| 32 |16 | 16 M16x1,5 26 |32 | 83 |64 24
27624-04-06121 Z YIHIM RS |12 12 | 6 6 M6 10 |12 31 |24 9
27624-04-08161 2 YIHI EHEIRS | 16| 16 | 8 8 M8 14 | 16| 42 | 32 12
27624-04-08321 2 YIHI4 EHESRY |16 | 16 | 8 8 M8 14 | 32| 58 |48 12
27624-04-10201 2 UIHI4H FEHESRS | 20| 20 | 10| 10 M10 18 | 20| 52 |40 15
27624-04-10401 2 YIHI4M RSB |20 | 20 | 10 | 10 M10 18 |40 | 72 |60 15
27624-04-12241 Z YIHI# ERESRE | 24 | 24 | 12| 12 M12 20 | 24| 62 |48 18
27624-04-16321 Z YIHI4W EREIRY | 32| 32 | 16| 16 M16 26 |32 | 83 |64 24
27624-04-20401 2 TIHI4 RSB | 40 | 40 | 20 | 20 *M20 34 |40 | 105 | 80 30
27624-04-10408 THM A2 A HESRL 8 8 | 4| 4 M4 8 | 8 21 16 6
27624-04-10510 TEWN A2 EHESRY | 10| 10 | 5 5 M5 9 | 10| 26 |20 7,5
27624-04-10612 TEW A2 AREIRY |12 12 | 6 6 M6 10 |12 31 |24 9
27624-04-10816 THM A2 EHERS | 16| 16 | 8 8 M8 14 |16 | 42 | 32 12
27624-04-10832 MW A2 AHEIRY |16 | 16 | 8 8 M8 14 | 32| 58 |48 12
27624-04-11020 THEM A2 AhHEES |20 | 20 | 10 | 10 M10 18 | 20| 52 |40 15
27624-04-11040 THM A2 EHESRE | 20| 20 | 10| 10 M10 18 |40 | 72 | 60 15
27624-04-11224 TN A2 BHERE | 24 | 24 | 12| 12 M12 20 |24 | 62 |48 18
27624-04-11248 THM A2 BHEBS | 24| 24 | 12| 12 M12 20 |48 | 86 |72 18
27624-04-11428 MW A2 BRI | 27| 27 | 14| 14 M14 24 128 | 72 |56 | 225
27624-04-11632 THEM A2 AHEMES |32 32 |16 | 16 M16 26 | 32| 83 |64 24
27624-04-12040 THM A2 EHEIRE | 40| 40 | 20| 20 *M20 34 |40 | 105 | 80 30
27624-04-104081 TEMW A2 EREIRL 8 8 | 4| 4 M4 8 | 8 21 16 6
27624-04-105101 TEW A2 RS | 10| 10 | 5 5 M5 9 |10 26 |20 75
27624-04-106121 TEWN A2 ERERY 12|12 | 6 6 M6 10 [ 12| 31 |24 9
27624-04-108161 TEW A2 EHESRS | 16| 16 | 8 8 M8 14 |16 | 42 |32 12
27624-04-108321 TEWN A2 EHEIRSY | 16| 16 | 8 8 M8 14 | 32| 58 |48 12
27624-04-110201 TEMW A2 FERESR4 |20 | 20 | 10 | 10 M10 18 | 20| 52 |40 15
27624-04-110401 TEW A2 ZEHESRS | 20| 20 | 10| 10 M10 18 |40 | 72 |60 15
27624-04-112241 TEWN A2 EREIREY | 24| 24 | 12| 12 M12 20 |24 | 62 |48 18
27624-04-114281 THEWN A2 ERESRE | 27 | 27 | 14| 14 M14 24 | 28| 72 |56 | 225
27624-04-116321 TEW A2 EREIRY | 32| 32 | 16| 16 M16 26 |32 | 83 |64 24
27624-04-120401 MW A2 FERESRL | 40 | 40 | 20 | 20 *M20 34 |40 | 105 | 80 30

© norelem www.norelem.com



